FD-103

M.Com 1st Semester
Examination, Dec.-Jan., 2021-22

Paper - 111

Income Tax Law and Accounts

Time : Three Hours] [Maximum Marks : 80
YWt gl & S SifSe ) g ueeEl & 3ie

T ¥

Note : Answer all questions. All questions carry equal
marks.

TS / Unit-1

1. (4) ¥aET & F0 = witqar rsfEs oM™

g2

() =X X & 99 & FF FH
fau %5000 YW BT ik
TRgfHes & fau wiE yEyE T8l
o |
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(2)

(i) =X Y &1 99 &1 &@ FH H
fdu 5000 9 gL N9 W
TRgfHes & fau T gan fHfv=a
JEYE o]

(iii) =AATE ok SARITER kUt iy
Y W fewl =1 FEifaa & 9
U o foq fewmiam ey X &l
¥ 500 AN % U« g

(iv) T X, X ¥ & =&l e
® ¥ o= Yy &1 93 @ T eiR
ey s & for wRgfas &
YEgH % SH @iel TRt T
ez Yy 9 39 $500 3 & feuw)

State whether the following receipts are
causal incomes ?

(i) Mr. X received T 5,000 for acting as
an arbitrator without any stipulation
as to remuneration.

(i) Mr. Y received ¥ 5,000 for acting as

an arbitrator with a clear and definite
stipulation for the said remuneration.

(@ii) Mr. X a decree holder received
interest of ¥ 500 under an order of
court granting stay of execution of

the decree on judgement debtor Mr.
Y.
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(3)

(iv) MR. X is in the service of Mr. Y,
Mr. Y’s son was lost and Mr. X
traced him out without any
stipulation of reward but Mr. Y gave

him a reward of ¥ 500.

(B) St Tsfg &I F& ™ T 1,32,000 AR
IS FU AT T4,900 T qA A WA
F FA A™ T 2,52,000 AR I F
3™ ¥ 35,000 § | -0 91§ 2020-
21 & faU Ycdsh g0 <F HT i UM
FITI T ¥ YIS Af WRd &
qramo frer €

The total income of Shri Rajeev is
¥ 1,32,000 and net agricultural income is
T 4,900. Total income of Shri Aman is
¥ 2,52,000 and net agricultural income is

¥ 35,000. Compute the tax payable by

each one of them for the asessment year
2020-21. Each of them is an ordinary

resident in India.

34T / OR
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(4)

X Uh 9RAE AR, @ faew ¥ gl
I 9T g |

(a) YRA ¥ WM &1 fafy qe 39kt STIAIS
3™ ¥ 6,30,000 ¥

(b) YRA ¥ WM & Y¥AG SH&! faeeit o™
% 6,50,000 ¥

I N TfFed &I UM wifew afe g
gRd 9 ;

() 1 S, 2020 1 < |

(i) 31 3TER, 2020 HI W T

X, a citizen of India, got an appointment letter
from Foreign country.

(a) His estimated total income till the
departure from India is ¥ 6,30,000.

(b) His foreign income after leaving India is
¥ 6,50,000.

Compute his tax liability if he leaves India
on:

(@) 1st July, 2020
(if) 31st October, 2020
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(5)
ZhTE / Unit-11

2. fHo fasr =1 3ma &1 faero =1 R 2
() o (ST T W T 48,000 T
WM & §§) ¥ 3,60,000 dTH |
(i) TRME VAT (Feed w @i h )
% 42,000 |
(i) e s (3 = % faw) ¥ 15,700
ElIEEN

(v) Tafecar s (arsdafas Tafean ==
¥ 14,000 1) ¥ 37,200 Iftiem |

(v) TR g webE (SEQR ) e
¥ 8,000 Ufd AR fohmn eprdt € | A

gafsd € Td 3% WA 1 R
325,050 @I ¥

(vi) ¥Re AR, W TE AR e
Yd® k1 ddd ¥ 1,250 Ui HE ®I
FHIA GRT IR S R

(vii) A G 39k ThIR & W 2F
7 8,000 |

(viii) JAToTG wfas ffy § S ofvem
731,000 TS fEEm &1 3vEH
7 36,000 |
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(6)

(ix) T 3 o =ftw & o | qw
SR @ gfawn @ g1 e
fo@ f=em 9 38,000 J&M |

(x) gfd X T 7,000, I R Toerolt g&qa
F T

F-TgRT F9 2020-21 & fa@ wW A

a9 § ™I HI TUMT HITT |

The particulars of Mr. Kapish’s income are as
follows :

(i) Salary (after deducting ¥ 48,000 for

income tax at source) ¥ 3,60,000 p.a.

(ii) Dearness Allowance (under the terms of
employment) ¥ 42,000 p.a.

(@iii) Education Allowance (for 3 children)
T 15,700 p.a.

(iv) Medical Allowance (actual medical
expenditure ¥ 14,000) ¥ 37,200 p.a.

(v) Rent free house (in Jaipur), the company
paid ¥ 8,000 per month as rent. The
house 1is furnished and the rent of
furniture is ¥ 25,050 p.a.

(vi) A domestic servent, a sweeper and a
watchman, were paid by the company

¥ 1,250 per month each.
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(7)

(vii) Expense of ¥ 8,000 borne by the
company for refresher course.

(viii) His contribution to R.P.F. ¥ 31,000 and
employer’s contribution ¥ 36,000.

(ix) The company has provided a free
telephone at Mr. Kapish’s residence and

paid bill amounting to ¥ 8,000.

(x) Professional tax ¥ 7,000. He furnishes
income tax return.

Compute taxable income from salary for the
Assessment Year 2020-21.

34T / OR

et X o # eIt STy € 1 39Tt
ThE W H § ST 1 HE 2019 1 oA
T a0 9T wWE & WA % fau wgE ®
@ ? 3™ A & few & faw s 9
3T, 2017 hi T 70,000 1 KT 12% Hfda™
&% @ R faan sw w0 7 9 g
AE TaE TR geT T |

T gHH & gy H o el 9 YER

*
.
.
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(8)

TRYTfAhl Hed T 24,000
TATfeTehRT T ST HT 10%
HIHHAT ¥ 7,000
FT W A ¥ 8,400

Heh( o TRUTCThl Y h1 STET YT g3

7

fHo X I 1 SRR, 2019 I Hickhal H
Feelt €1 T Sl 9% ¥ 5,000 WiHE % TR
F HHM H W W T qAq ITRT TR
ThH 1 fggmr 9 72,000 ¥fd A6 f@ W
331 fean |

H-fufor g9 2020-21 & fau figer X Y
T TWA 9 & IFF T HI MO

Tl |

Mr. X is an Income Tax Officer at Agra. He
owns a house at Agra which was constructed
on lIst February, 2019 and was occupied by
him for his own residence. He took a loan of
¥ 70,000 on Ist August, 2017 @ 12% p.a.
Interest for the construction of this house.
Nothing has been repaid out of this loan.

Other informations in respect of the house is
as under :
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(9)

Municipal valuation ¥ 24,000
Municipal Tax 10% of the above
Repairs T 7,000
Interest on loan T 8,400

The municipal tax of the Agra house is half
paid.

Mr. X was transferred to Kolkata on 1st
October, 2019 where he resides in a house

taken on rent of ¥ 5,000 per month and his
house at Agra was let out on 1st December
on rent of ¥ 2,000 per month.

Compute Mr. X’s taxable income from house
property for the Assessment Year 2020-21

TS / Unit-111

3. fHo TH 9 31.3.2020 &I WU B o7 o9
F @l ¥ e geed @

z
() Y& 2,00,000
(b) STHHETIU FIfASUE US| I

T 40,000
(¢) STTIH o TTT TS 10,000
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(10)

(d) ToRm= =33, 399 T qoifash
et g YeRTtyrd difaf=) §
foqmoa & =9 7 4,000 IMEAE 20,000

(¢) ITUIE Yok oh ATT TS 30,000

(f) SR E Y 35,000

(g) HHAIRA! o1 T A A"
< g faan 10,000
(h) HEH SATYHIE G R H1
STEEA T I ST T 37

LSS 65,000
(i) T R JA1 R U H e
FH R AN 1,000

TIEE 9 ™ HI MUET HIfST |

Mr. Ram gives you the following particulars

from the accounts for the year ended
31.3.2020 :

?
(a) Net Proft 2,00,000
(b) Contribution to unrecognised
Provident Fund 40,000
(¢) Provision for income tax 10,000
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(11)

?

(d) Advertisement expenses including

an advertisement for ¥ 4,000 in

souvenir published by a political

party 20,000
(e) Provision for Excise Duty 30,000
(f) Holiday home expenses 35,000
(g) Insurance premium for the health

of employees paid by cheque 10,000
(h) Penalty imposed by customs

authorities for breach of law 65,000
(i) Interest for late payment of

Goods and Services tax 1,000

Compute Income from the business.
34T / OR
(4) Trfafaa & o1 TI<qan THeRET
(@) X G R-THR wfaygfaar
(b) BT T W Wl

Explain clearly the meaning of the
following :

(a) Tax-free Non-Government Securities

(b) Cess-tax Government Securities
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(12)

(B) fi=x A 7 a9 2000 # feooll & wH
Heh ¥ 1,00,000 H TS q4m 98 2000
T 39 goH | T HW qA TH S
730,000 i @A W I | 394 3T
TR § guR fR &R wE, 2014 B Q@
@M ¥ 2,40,000 T TG R M |

=t A 71 9., 2019 & 98 HHM
725,00,000 # s= fear afe 1 o1«
2001 w1 HHEM w1 3fud IR HH
4,00,000 ¥, @ Ut @Y @ HifC)
2001-02, 2014-15 WA 2019-20 H &N
ThHIfd Feehich SHHS: 100, 240, 289 |

Mr. A purchased a house in Delhi in the
year 2000 for ¥ 1,00,000 and added two
rooms and a verandah in the house at a
cost of ¥ 30,000 in the year 2000. He

made improvements in the house and
added two bathrooms at a cost of

¥ 2,40,000 in May, 2014.

Mr. A sells the house on 1 July, 2019 for
¥ 25,00,000. Find out the capital gain if
the fair market value of the house on
Ist April, 2001 is ¥ 4,00,000. The cost
inflation index in 2001-02, 2014-15 and
2019-20 were 100, 240 and 289
respectively.
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(13)

BT / Unit-IV
4. T gawed & w-fauio o 2020-21 &
fou giadt <raferan st Fa TE W gs W
<MIA I MUAT HIFTC

.
(a) TR GHd F 3 (U1 i T5) 95,000
(b) TR Ffayfaal W =t 75,000
(c) W § Sia 1,00,000
(d) FEFHA T TR hig §

I BRI M 50,000

(¢) o ™ (ITUMT hl §3) 3,00,000

From the following information compute total
income of Mrs. Deepshikha for the

Assessment Year 2020-21 :

?
(a) Income from House Property
(computed) 95,000
(b) Interest on Government Securities 75,000
(c¢) Winning from Lottery 1,00,000
(d) Donation to P.M. National
Relief Fund by cheque 50,000

(e) Income from Salary (computed) 3,00,000

34T / OR
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(14)

St ol FAR S H T Frard wem §
F-fAufor a9 2019-20 dem 2020-21 & fo@
frafafed faawo g&@ @ 1 ST O
FA A™  (F-TuRO a9) 2019-20 qeU
2020-21 1 TUAT hHifSQ :

2019-20[2020-21
3 | ®)

(i) TR A AR

Y (B ) 1,40,000( 30,000
(i) WSHA FEEE § 3™ |2,40,000( —15,000
(iii) TS SATIR Tl oMY 28,000
(iv) 3T 934 W 3™ 18,000 40,000

(v) M % g AR &
B0 S &Y (2018-19
T &g & faam) 12,000

(vi) faew # foru T T
ek T 9 oy st
IRA &1 T T 2,35,000

(viii) FTaT o FLE TR H1
A (S 3 9 gRY
Toran ) 60,000
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(15)

Shri Ashok Kumar who is a resident assessee
furnishes the following particulars for the
Assessment Year 2019-20 and 2020-21.
Compute gross total income for (the
assessment year) 2019-20 and 2020-21 :

2019-20(2020-21

) | ()
(i) Profit of Saw mill
business (before
depreciation) 1,40,000] 30,000

(it) Profit of cycle business |2,40,000| —15,000
(iii) Casting business profit 28,000

(iv) Depreciation of saw
machine 18,000 40,000

(v) Gold speculation
business loss carried
forward (discontinued in
2018-19) 12,000

(vi) Profit from a business
activity in foreign not
brought in India 2,35,000

(vii) Silver speculation

business profit (started
this year) 60,000
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(16)

ZhTS / Unit-V
5. fTrafafea w dfera femfoar fafew .
(a) FR-Teo Ay

(b) HHT (37T

Write short notes on the following :
(a) Assessing Officer
(b) Commissioner (Appeals)

34T / OR

FHHTR () & QY & foeg srdiere
feoqaa @ 3l & & wEfafy w1 9899
T i i

Describe briefly the procedure for filing an

appeal to the appellate tribunal against the
order of a Commissioner (appeals).
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